" = of
=158 OD R B B BE
1(a). ASBoCEEA LIERDZDT 21E

A—>B f;j(x’y)Ax B-C: fy($+ Ax,y)Ay
(b). ASDCEBN UIIEDIEDT 3HE
A-D:f (T,y)Ay  D-C: f(z,y+Ay)Ax

(c) RENTHBIcDDERYE
EEIRERBICL SN

Wise = Wane [

Ay

[A—B] + [B=C] = [A=D] + [D—~C] Al

(z, y)

Az
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=1\ B OD R 25 i
(d) f(:ri,y)=(—ax2y,—%aaz3) SRED?
of (z,y)  9f,(,y)

= O %E@?’J‘@ﬂ‘i\ﬁb\o

Ay or
afxgz,y):%(_amzy):_axz
of@y o 1 .

ox _8:1:( 3%)_ “
L REATH DS
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. — of
SLER D AR =
[A-B] + [B=C] = [A—D] + [D—(] J c

L@ yAz+ [ (z+ Az, y)Ay |

Ay

= f (@AY + f(zy+ApAz | A |

(%, y)

Az

Mm% AzAy TE| > TEIET 5 &

L@yt Ay —f @y  f@+Azy)-f (@)
Ay - Az

af;c(x’y) — afll/(x’y) %20\t af;:(x’y) _ afy(m’y) =0

dy ox oy ox
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KBS D R S .

o). EEETOREL B (LASEEET )

L
v(t)=—gt y(t)=—59t

o ? 1 ]
v 2 2
——_ql = +—0v"=0 maoy+—mv =0
Y 29(9) g9y > qy >

HEZEICRBINCE>THRDOEIEEDLS |

© d 1 2} dy dv
—|mgy+—mv” |[=mg—+mv—=0
dt 2 dt dt

F=ma=-mg
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E N 73 E\

SVBR D R S =
3(a)-i. T =(pcoswt, psinwt)

_dr .

U= E = (—pwsin wt, p@wcoswt)

a = (—pw* cos wt, —pw” sin wt)

=—w’(pcoswt, psinwt)
3(a)ii. r* =12° +y° = p°cos’ wt+ p’sin® wt = p’
FEpDFRMEH
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4(a). BESICKSTEAIMERE : g = 9.8 (m/s?)
27 21 6

(b). = = =
T 60x60x24 60x1500

~ ~0.6x107* (s 3x107°
15000 (7)) (7.3%107)

v=rXx®=6x10°%x0.6x10"

=~ 400 (m/s) 438 (m/s) = 1600(km /h)
a=r®w’ =6%x10°x%x(0.6x107*)*

=6x0.36x107% =2x107 (m/s*) (3.2x107)
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S BR D AR =

3(b)-i. T =(pcoswt, gsinwt)

—w’(pcoswt, gsinwt) = -7

q=
3(b)-ii. T = pcoswt, y = qsin t
2 2
=p = ol |
FEu R OD R 55
4e). a= 2? _2x400 0.5 (m/s?)
t 1600

4(d). 100 (m)=%><3><V+(10—3)><V=8.5V

S V=12 (m/s) (11.8)

v
na= % — 4 (m/s?) (3.9)

3 10 t(s)
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RIVBR OD 55 m =

4(e). BHEET 9.8 (m/s?)
FERIR 1 0.5 (m/s?)
100mzE 4 (m/s?)

WERDBEE : 102 (m/s?)

S

a=10"7 (m/s?)
ABEDHEE 1 (m/s)
1 (m/s) DREICTR D DIC100M 12
- BAMREICHEARTIERICNS W
- B [BERICKLZIMEE+ENINRE] 20 TVWEHNS
KD DDA
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HEBOAK=IDAXA—Y N
VI TBR) Z2XRIEITDIHD
HODEBLWNEMNE SNEZS

PZIE, ARE o (rad/s)
1#T 1 [EERd 5 & 27 = 6(rad/s)
HIBR D AEE o = 400 (rad/s)
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"HiE, OXRYIS

BIEORESZAA—IT B!

- Im&E1.00mIEERES |

EpIEsS

HEORESSDAA—=Y

Bl Z(E, RE v (m/s)
B EDEE D v=3x10° (m/s)
[H3 ¢ = 3 x 108 (m/s)]

100mEDEE : v= 1.2 (m/s)

ERIES S
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A2z ~ ol | M2 ~
BEORKESDAA—Y am BEORKEIDAA—Y g
P c 3.0 x 108 m/s [BlZ 1 1ADER
EFOER e 1.6 x 1017 C 1(A) =1 (C/s) EF 1 BOEH : 1.6 x 1019 (C)
7RA RO% Na 6.02 x 1023 mol! 1 (A) = 10" (e/s)
Ry vvES | kg 1.38 x 10% J/K
HIER 0D 1R RE 6400 km BIZE 1ccrh DA F DK
ETOEE Me 9.1 x 103! kg 22.4') w MLARIC6x10% (f8)
BRFOER  |my~ma 1.67 x 10?7 kg 92.4 (Itr) =22.4 x 1000 (cc) =2 x 10* (cc)
T2 T ES h 6.63 x 1034 Js leclTld, 6x10% / 2x10° = 3 x 10°(ff]) (2.7 x 10%9)
Ro7HE ao 5.3 x 107! m
EREYEFHR 2007 ER1H 136 ERYIEEIR 2007EERE 137
% _ : N E - g ” 2 N \NF ~— E -
BMEOKEESDAA—Y om T 1m&E1.00MIEEAREDS ! am
HELUERE TEHEUCHOYEEE KD 255
Bl Z [ EH1m, HE1L5mDIROERE : S
HIERDTRMEE = 4 x © x (6300x10%)2 = 12 x 4 x 10'3 ~ o o R
5=1x15=15 (m?) =2 (m?
=5 x 10" (m?)
HEROEED > BENIERET B, (RLET1%) BIA EHEIm, B2 4mDRDOER - 5
CEOESOFHE1000mE T D, (A IE3800m) S=1x24=24(m? =2 (m?
| Z_ (EHot1. El = .
EBOERE=5 x 104 x 0.5 x 1000 = 2.5 x 10'7 (m?) PIR (EHEL.0m, $R15mDROER * §
$=1.0x1.5=15 (m?)
Im*DKDEE= 10° (kg) = 1 ton
Im&E TEQOEN0.5mBE, 1.4mT) &WS AR
HRDBADES = 2.5 x 1017 x 107 =2.5 x 10% (k) Lom& ld TEOEA0.95mE, 1.04mTF) &WSELk
EREYEEHE 20075 ER1H 138 ERYIEEIR 2007EERTE 139




Im&E1.00mIEEARES | am

BN -
S=1x15=15(m2)=2(m2) X 1
EEE 14 i E
1.5
§$=1.0x15=15m2) X110
BT @ 241 : go

1.50
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Im&1.00mlzERES |

[100m] DBEMEF (AT ?
|
3#7

1 HTDHZE 1 x 102 m
2 HTDIZBE 1.0 x 102 m
3HTDHZE  1.00 x 102 m

EpIEsS
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